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Count One More

Reasoning and Problem Solving

Using number cards O to 10,how many ~ Look to see if Mo says, His sister is 8
different ways can you complete the children are | am one year older because she is one
boxes below? working than myesis(er more than 7
systematically, e.g. (o)) Y :
1 then 2
iz Y | wyssmsmeren | 158
: older than my than 8
brother.
. Mo is the oldest
Teddy rolls the number that is 1 more 2iis smaller than 3 Kot because 9 is
than the dice below. and when we find bigger than 7 and
one more the How old is Mo? 8
number gets Who is the oldest?
bigger. Explain why.
He says that he rolls 2
Explain his mistake.
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